SOCA (HN)-01
West Bengal State Universzty

- B.A. /B Sc. / B.Com ( Honours, Major, General } Examinatlons, 2015
PART -1

SOCIOLOGY — HONOURS
Paper - I
{ New & Old Syllabus }

Duration : 4 Hours | ' - [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.
Teq YR e O R A

ATFE TN SR @res |

{ New Syilabus )

Group - A
faet-=
X. Answer any one 6f the followiﬁg questions within 1000 wol;'ds L I x12 = 12
M3 CI-FF TS 2T TG Yooo MTHA Ny et ¢
4} Discuss the role of somology as a science.
frart R AEREg Qi s P |
b} Write a note on Nature-Nurture debate.
#Pfs ¢ afestm Raae o 7o aafe B g |
Answer any twe of the following within 400 words each : . 2x5=10

B3 XA ¥S 2w $eg ol goo =g Wiz et

8 Differentiate between in-group and out-group.

T8l @qg AfRedie e ondzs ey w1 |
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b)  Discuss the difference between assimilation and accommodation.

RSIFA @ TARGTER N0 2/1LP] WG FFF | .

4 What is sociological imagination ?

ANTCTEIg® T B 2
d) - Differentiate between status and role.
T AR GRR A e e v o
Group - B
faetar-2
B. Answer any one of the following questions within 1000 words : 1x12=12

Sa (IO G oo $6F sooo Mgard W Fi 8

a)  Discuss the role of socialization in the development of personality.

ey [t AIRETSITTa GNP e T |

bj ~ Discuss the basic featlures‘of industrial society.
firsy FTER T LaBBe R e 3 |
4.  Answer any two of the following within 40.0 words each 2x53= iO
e (B G ez Yoy afell soo *ra ug e 3
a}  What is lineage ? . |
I $ 7.
b)  What are the features of social stratification ?

e Safeue s 9 2

c)- Differentiate between vertical and horizontal mobility.

. SR STeTel G SIS ST W AN I |

d}  Explain urbanism as a way of life.

AT I A T FIA |
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' Group - C
faetet-ot

5.  Answer any one of the following questions within 1000 words : 1x12=12

R (X (B 9T 2757 TBR yooo T W& i ¢

a) Discuss the impact of economic processes on the larger society.

JGD TS TN ARFAPTIRA &S SO S |

b)  Trace the importance of education in the process of modernization.

SRRl e e o fifee o9 |

6. ~ Answer any fwo of the following guestions within 400 words each : 2x5=10

s (T o WG evem SR afelh goo *ara o fuw ¢

a)  What are social indicators of economic development ?

- arefefo e e SpEnR 0

b} What is pressure group ?

mﬂaﬁmﬁttﬁ%w:»

<) Write a note on ‘education and culture’.
"Rl @32 gl REm alh B By

d;, Write a short note on Sacred and Profane.

@ «3e St T @l Fefee Bt |
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Group - D
ferg

7. Answer any one of the following questions within 1000 words : 1x12=12

758 (3 (P 92 2Tya B9 vooo T W A ¢
a) . Discuss the social consequences of scienée Iand technology.
R @ AT TGTE TP ST THA |
b} Discués the role of ideol;)gy_ in social movement.
IR SCHIPTE ORI I ST asaw i
8. Answer any two of the following questions w.ith-in 4060 wordé each : 2x5=10

05 o A o S oife goo Mo sy e g

&4 Write a note on technology as a mechanism of social control.

e Fregd 97 R ey R «wfl B e |

b}  Differentiate between political movement and social movement.

AT TCHET G2 T NCHETT TT A1 TFA |

¢}  Write a note on confinuity and social change.

STl @ IR SHREGEE Toi «zfb Bt Frgr

4 What is social responsibility of science ?

. g sTaifdrs wite & 2
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9.  Answer any sitxof fhe following' questions within 100 words each :

Group - E
fastat-g

a7 oW BEY ST Ted «felh oo Wrarg wos W g

a

b)

hj

j)

Define Community.
ewTEe Ace o |

What is deviance ?
Rpifs ) 2
What is informal group ?

S (8 FhCE 46T 2

What is meant by social distance ?

I qy 4°0e B (@RI ¢

What is co-operation ? -

sEraifare) 2

What is Hypergamy ?

\Wm'ﬁw—&?r?

What is neo-local family ?

g wF sifgar %T'?

Define class-for-itself,

Foa ufera wse e |

What is meant by political socialization ?

ATNSF TGP 9108 FT @RIT 2

What is meant by development ?
far 2=1ce ¥ (IR ¢
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_ ~ West Bengal State University
B.A./B.Sc./B.Com ( Honours, Major, General } Examinations, 2015

PART -1
SOCIOLOGY — HONOURS
Paper - 11

( New & Old Syllabus )

Duration : 4 Hours | : [ Full Marks ; 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.

Teq IS HTEd SER 141 AT |
AT TINSIET 2| AT (W9 |

y { New Syllabus )

Group - A
et
1.  Answer any one of the following within 1000 words : 1x12=12 .

- Tea I @3 2t T sooo W T T ¢

a) Discuss the impact of the French and Industrial Revolution on the
emergence of Sociology.

Wmmwﬁmaﬁﬂﬁmwwwﬁ

b) How does Spencer trace the course of evolution from the Militaristic to

Industrial society.

T RreTE RS T (e sy s ReseEa s e s 0
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2.  Answer any two of the following within 400 words each : ' 2x5=10

M CF-F %o A0 Ted AfSls oo Mm@ wug A 5

a} What is meant by social evolution ?

b) What does Spencer mean by organic analogy ?
- (ST P o0 (oA T e o

<) What are the élofe ideas of enlightenment philosophy ?
Y el S e e 2

@]  Briefly explain the hierarchy of sciences fol]ow_ing Comte.
1597 TP FRETRRA T GIFITRAIRT Tl 3797 |
Group - B '
Rretet-2
" 3..  Answer any one of the following within 1000 words : . 1x12=12
Mo (- s 2087 $9F vooo Nt W& W ¢
a]  Write a note on Marx’s notion of class strugglé.

TR QR AR Goia vl bl P |

b) Critically discuss the significance of the Marxist notion of base and
superstructure,

5 G SHARRPIOGN TS WFNT IR SR FTAEBAZ HIETG F5641 |
4.  Answer any fwe of the following within 400 words each : 2x5=10
AT AP 76 209 Teg oS goo = sy i ¢

a}  What does Marx mean by relations of production ?

TeoAMETg 7ok Fees W 3 qRmm 2

b}  Briefly explain Marxist notion of socialism,.

TG FAGTolEd e TP AN FEF |
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' ‘9} ‘What does Marx mean by alienation ?
TafeaeTcary zeTee W 3 gfvomes »

d}  Write a short note on Marxist notion of mode of production.

BeoATA o1 HEETS NERR 4T Bora ey wefives By e

Group - C
et

5.  Answer any one of the following within 1000 words : 1x12=12

68 (@ @W «FTS 24T $EE Yooo =EF W& T ¢
a) Briefly explain Durkheim’s theory of religion.
3 OIS TACNETE O ALTH G| P |

P i) Write a note on Durkheim’s notion of division of labour.

EIGRT FFR (ANEEA LR B9 @b el fog |
6. Answer any fwo of the following within 400 words each : 2x5=10

9059 (3 (P K6 20ag $eR ofel soo *ar ww ¢ ¢

?]’ Write a note on Durkheim’s notion eof anomic suicide.
TAETE (TSI SRl 4R To @i o1 g

b}  Analyse, following Durkheim, the influence of social integration on suicide.

WWW@MWWMWqW1

£} Differentiate between egoistic and altruistic suicide.

WRTSFEF aq8 TN R S5 FeFT 37 |

dj  Write a short note on Durkheim’s notion of moral density.

FHEEA AT Ty AIReR Soiw awelh Aoy St e 1
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Group - D
faert-g

7. Answer any one of the following w.ithin 1(500 words : 1x12=12
RS o1 o el o B 000 TR T |
g}  Discuss the nature ;:;f bureaucracy following Weber.
TG ST AR TS ST A |
?}' Briéﬂy explain Weber’s typology of social action and authority..

SRR MG WFH @3 TP WATH HLTHS W1 P |

8. Answer any two of the following within 400 words each : 2x5=10

Fee 7 o i ereem Suw afell seo *rar o fm ¢
aj What does Weber mean by Ideal type of sample ?
e JA 00 TR R 2

b) Write a short note on Weber’s explanation of social stratification.

mmmewmwwﬂﬁmﬁ@%ﬁvﬁ |

L,é) What does Weber mean by social action ?

A fe wei0s GrEar & R 2

' d}  Dafferentiate between power and authority following Weber,

GTRIEA PR T 938 6033 e oy a9
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9. Answer any six of the following within 100 words each :

5

Group - E
frstot-g

Roa o7 oo S arws Bam ofol oo it e e ¢

)

r

b}

c)

dj

e

%3

h) -

What does Comte mean by theological stage ?
s »riw et &re & o 2
What is Social Darwinism ?

Hfes TRsgAan o 2

What is meant by positivism ?

FEAM FENCS 5 (IR 2

What is meant by revolution ?

fer TS e (AR 2

Define social fact following Durkheim.
TAETTE S0 STIGS HAr eeet e |
What is Verstehen ?

(SACHEA & 2

How does Weber define Sociclogy ?
G Ao el e o ¢

SOCA(HN)-02

6x2=12

What does Spencer mean by principle of non-interference’ ? -

TICF 7 AR WS TS AT 5 IR 2

What, according to Comte, is the subject matter of social statics ?

HIToR WS e FERwm Ry 5
What does Durkheim mean by anomie ?

T qwice fAcE v i 2
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